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Senza nome
fc=8000; %sampling frequency
f0=1500; % center frequency
nu0=f0/fc ; %center frequency (normalized)
rho=0.95;
A=E%]-2*rho*cos(2*p1*nu0) rhoA2];
B= 5
[H w]=freqz(B,A,200); %get frequency response (abscissa in rad)
[h t]=impz(B,A); %get impulse response
subplot(2,2,1)
plot(wW/(2*pi),abs(H)) %plot magnitude (abscissa in norm freq.)
y1abe1('ma9n1tude')
xlabel('nu™)
subplot(2,2,3)
plot(w/(2*pi),phase(H)) %plot phase (abscissa in norm freq.)
ylabel('phase')
xlabel('nu')
subplot(2,2,2)

zplane(B,A) %compute and plot z plane
subplot(2,2,4)

stem(t,h) %plot impulse response
ylabel('impulse response'g

xlabel('n")
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magnitude

: “SEAZa=MOme
fc=10000; %sampling frequency
f0=500; % center freguency .
nu0=f0/fc ; %center frequency (normalized)
rho=0.97;
A=[1 -2*rho*cos(2*pi*nu0) rhoA2];
B=[1 -2*cos(2*pi*nu0) 1];
[H w]=freqz(B,A,200); %get frequency response (abscissa in rad)
[h t]=impz(B,A); %get impulse response
subplot(2,2,1) 3 )
plot(w/(2*pi),abs(H)) %plot magnitude (abscissa in norm freq.)
y1abe1('magnitude')
x1abel('nu’)
subplot(2,2,3) .
plot(wW/(2*pi),phase(H)) %plot phase (abscissa in norm freq.)
ylabel('phase')
xlabel('nu')
subplot(2,2,2)

TTR. I

zplane(B,A) %compute and plot z plane
subplot(2,2,4)
stem(t,h) %plot impulse response
ylabel('impulse response'?
x1abe1('n'§
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senza nome
fc=100000; %sampling frequency
£1=10000;
£2=25000;
£3=13000;
£4=22000;
nul=Ff1/fc:
nu2=Ff2/fc;
nu3=f3/fc;
nud=f4/fc;
rho=0.90;
B=conv([1l -2*cos(2*pi*nul) 1],[1 -2*cos(2*pi*nu2) 1]);
A=conv([1l -2*rho*cos(2*pi*nu3) rhoA2],[1 -2*rho*cos(2*pi*nu4) rhoA2]);
[H w]=freqz(B,A,200); %get frequency response (abscissa in rad)
[h t]=impz(B,A); %get impulse response
subplot(2,2,1) )
plot(W/(2*pi),abs(H)) %plot magnitude (abscissa in norm freq.)
y1abe1(‘ma9n1tude')
x1label('nu")
subplot(2,2,3) )
plot(w/(2*pi),phase(H)) %plot phase (abscissa in norm freq.)
ylabel('phase’)
x1abel('nu")
subplot(2,2,2)

zplane(B,A) %compute and plot z plane
subplot(2,2,4) )
stem(t,h) %plot impulse response
ylabel('impulse response')
xlabel('n")
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